VEVOR

TOUGH TOOLS, HALF PRICE

TechnicalSupport and E-Warranty Certificate www.vevor.com/support

KITCHEN ISLAND
Model: SR221265BK

We continue to be committed to provide you tools with competitive price.
"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the
major top brands and does not necessarily mean to cover all categories of tools offered
by us. You are kindly reminded to verify carefully when you are placing an order with us if
you are actually saving half in comparison with the top major brands.



®
VEVOR KITCHEN ISLAND

TOUGH TOOLS, HALF PRICE

Model: SR221265BK

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



TIPS
Assembling this cart will take approximately 3 hours,
it is recommended that 2 people operate it.

SAFETY INSTRUCTIONS

Thank you for using this product. Please read all of the instructions before using
it. The information will help you achieve the best possible results.

WARNING:

Please read this manual carefully before using the product. Failure to do so may
resultin serious injury.

ASSEMBLY PRECAUTIONS

1. Assemble needs to follow these instructions. Incorrect assembly can be a hazard.
2. Wear safety goggles and heavy-duty work gloves during assembly.

3. Do not assemble when tired or under the influence of alcohol, drugs or medica-
tion.

4. Weight capacity and other product capabilities only apply to a wholly and correct-
ly assembled product.

5. Keep the assembly area clean and well-lit.

6. Keep bystanders out of the area during assembly.

7. The weight of plate is heavy; pay attention to the installation to avoid hurting it,
and if necessary, find someone to assist with the installation.

8.Assembly should be done by adults only.

9. WARNING: This product contains small parts. If swallowed, it will pose a choking
hazard. Keep these small parts away from children when assembling!

10.Before using the appliance for the first time, peel off any promotional materials
and packaging materials.

ATTENTION!

WARNING! Keep children and pets away.

WARNING!Remove all packaging materials and keep them for future
A use.Packaging materials are not a toy.

WARNINGI!Don't let children play with the packaging materials. If they

swallow the packaging materials, they will suffocate!

SAVE THESE INSTRUCTIONS

_2_



USE PRECAUTIONS

WARNING:TO PREVENT SERIOUS INJURY AND DEATH FROM TIPPING:
1.To avoid accidents or sharp edges injuries please assemble and use carefully.
2. Use as intended only. Do not sit or stand on the product.

3. Inspect before every use. Do not use itif parts are loose or damaged.

4.If any parts are missing, broken, damaged, or worn, stop using this item until
repairs are made and replacement parts are installed.

5.Do not exceed the listed weight capacity. Tighten all knobs securely before
applying load. Be aware of dynamic loading! The sudden load movement may
briefly create an excess load, causing product failure.

6.Try not to be too heavy to avoid the weightin one place, causing the table to
overturn.

WARNING:Do not let children play with this product,
to avoid turning over the harm.



Exploded Drawing




PARTS LIST

@

1PC

©

2)

@

(5) (®) @
%ﬁ/




<0®/@




Cam Lock Fastening System

This Cam Lock Fastening
System will be used
throughout the assembly process

A M6*35 B 215*10 C 26*30 D M4*35 E M4*20 G M3*12 H M7*40
S
=/
36 PCS 36 PCS 16 PCS 26 PCS
+1spare +1spare +1spare 6 PCS 5PCS 5PCS +1spare 8 PCS
T M5*14 J L M4*30 M M4*14 (¢} P
26 PCS 12 PCS 24 PCS
+1spare 2 PCS +1spare +1spare 4 PCS 8 PCS 2 PCS
Q R S CL
1PC 4 PCS 1PC 3 PCS




ASSEMBLY STEPS




" |CLx3

¥ | Gx12




@15*10 BX4

%Mmo H x4

_10_



% M7*40 H X4

@15*10 BX8

_11_



V/

‘/\é

/)

_12_



_13_




_14_




% Oxs

14

_15_



. Mxs

. Mx4

\%mo Ex1

(@ Fx1

_16_



17

18

_17_



Bx12) U |Fx3

@15*10

.../ Ex3 ™o, | Lx12

/ DL x3

/ DRx3

_18_



AN W

_19_



Manufacturer: Shanghaimuxinmuyeyouxiangongsi

Address: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, shanghai
200000 CN.
Imported to AUS: SIHAQ PTY LTD. 1 ROKEVA STREETEASTWOQD NSW 2122
Australia
Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancha
Cucamonga, CA 91730

EC

REP

UK

REP

E-CrossStu GmbH
Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.
C/0 YH Cansulting Limited Office 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX

_20_






VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

TechnicalSupport and E-Warranty Certificate www.vevor.com/support

KITCHEN ISLAND
Model:SR221265BK

We continue to be committed to provide you tools with competitive price.
"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the
major top brands and does not necessarily mean to cover all categories of tools offered
by us. You are kindly reminded to verify carefully when you are placing an order with us if
you are actually saving half in comparison with the top major brands.



Machine Translated by Google

®
VEVOR KITCHEN ISLAND

TOUGH TOOLS, HALF PRICE

Model:SR221265BK

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



Machine Translated by Google

TIPS
Assembling this cart will take approximately 3 hours,
it is recommended that 2 people operate it.

SAFETY INSTRUCTIONS

Thank you for using this product. Please read all of the instructions before using
it. The information will help you achieve the best possible results.

WARNING:

Please read this manual carefully before using the product. Failure to do so may
resultin serious injury.

ASSEMBLY PRECAUTIONS

1. Assemble needs to follow these instructions. Incorrect assembly can be a hazard.
2. Wear safety goggles and heavy-duty work gloves during assembly.

3. Do not assemble when tired or under the influence of alcohol, drugs or medica-
tion.

4. Weight capacity and other product capabilities only apply to a wholly and correct-
ly assembled product.

5. Keep the assembly area clean and well-lit.

6. Keep bystanders out of the area during assembly.

7. The weight of plate is heavy; pay attention to the installation to avoid hurting it,
and if necessary, find someone to assist with the installation.

8.Assembly should be done by adults only.

9. WARNING: This product contains small parts. If swallowed, it will pose a choking
hazard. Keep these small parts away from children when assembling!

10.Before using the appliance for the first time, peel off any promotional materials
and packaging materials.

ATTENTION!

WARNING! Keep children and pets away.

WARNING!Remove all packaging materials and keep them for future
A use.Packaging materials are not a toy.

WARNING!Don't let children play with the packaging materials. If they

swallow the packaging materials, they will suffocate!

SAVE THESE INSTRUCTIONS

_2_



Machine Translated by Google

USE PRECAUTIONS

WARNING:TO PREVENT SERIOUS INJURY AND DEATH FROM TIPPING:
1.To avoid accidents or sharp edges injuries please assemble and use carefully.
2. Use as intended only. Do not sit or stand on the product.

3. Inspect before every use. Do not use it if parts are loose or damaged.

4.1f any parts are missing, broken, damaged, or worn, stop using this item until
repairs are made and replacement parts are installed.

5.Do not exceed the listed weight capacity. Tighten all knobs securely before
applying load. Be aware of dynamic loading! The sudden load movement may
briefly create an excess load, causing product failure.

6.Try not to be too heavy to avoid the weightin one place, causing the table to
overturn.

WARNING:Do not let children play with this product,
to avoid turning over the harm.



Exploded Drawing




PARTS LIST

@

1PC

3 PCS

©

2PCS

2

3 PCS 3 PCS 3 PCS

Q)

A

DN




Machine Translated by Google

<‘®E/@

1PC




Machine Translated by Google

This Cam Lock Fastening
System will be used

Cam Lock Fastening System

throughout the assembly process

A M6*35 B @15*10 C @6*30 D M4*35 E M4*20 F G M3*12 H M7*40
€3

36 PCS 36 PCS 16 PCS 26 PCS

+1spare +1spare +1spare 6 PCS 5PCS 5PCS +1spare 8 PCS
I M5*14 J L M4*30 M M4*14 N o P

26 PCS 12 PCS 24 PCS

+1spare +1spare +1spare 4 PCS 8 PCS 2PCS
Q R S CL CR DL DR

1PC 4 PCS 1 PC 3 PCS 3 PCS 3 PCS




ASSEMBLY STEPS




" |CLx3




Machine Translated by Google

3 @15‘10

Bx4

Hx4

_10_




Machine Translated by Google

NMMO Hxa

Q,mo Bxs

_11_



i ranslated by Google

§

21510 BX4

MMMMM

Cx6

MMMMM

Dxs




Machine Translated by Google

Ix16

Jx2

Kx2

10

_13_



Machine Translated by Google

_14_



Machine Translated by Google

3

1

14

_15_



Machine Translated by Google

i M4*14 st
-

\%mo Ex1

(@ Fx1
g

- Mx4

16

\/>

_16_



Machine Translated by Google

17 \3,“4,,20 Ex1
C@ Fx1

g At Mx4

18 % M4*14 MXB

_17_




Machine Translated by Google

510 BX12 (@ FX3

Ww*zo EX3 \Wm*ao LX12

Y,

X3

/ DL x3

/ DRx3

_18_



nslated by Goo

AR
2\
N\

/

_19_



Machine Translated by Google

Manufacturer: Shanghaimuxinmuyeyouxiangongsi

Address: Shuangchenglu 803naong11haa1602A-1609shi, baoshanqu, shanghai
200000 CN.
Imported to AUS: SIHAQ PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australia
Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho
Cucamoanga, CA 91730

EC

REP

UK

REP

E-CrossStu GmbH
Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.
C/0 YH Consulting Limited Office 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX

_20_



Machine Translated by Google



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

TechnicalSupport and E-Warranty Certificate www.vevor.com/support

KITCHEN ISLAND
Model:SR221265BK

We continue to be committed to provide you tools with competitive price.
"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the
major top brands and does not necessarily mean to cover all categories of tools offered
by us. You are kindly reminded to verify carefully when you are placing an order with us if
you are actually saving half in comparison with the top major brands.



Machine Translated by Google

®
VEVOR KITCHEN ISLAND

TOUGH TOOLS, HALF PRICE

Model:SR221265BK

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



Machine Translated by Google

TIPS
Assembling this cart will take approximately 3 hours,
it is recommended that 2 people operate it.

SAFETY INSTRUCTIONS

Thank you for using this product. Please read all of the instructions before using
it. The information will help you achieve the best possible results.

WARNING:

Please read this manual carefully before using the product. Failure to do so may
resultin serious injury.

ASSEMBLY PRECAUTIONS

1. Assemble needs to follow these instructions. Incorrect assembly can be a hazard.
2. Wear safety goggles and heavy-duty work gloves during assembly.

3. Do not assemble when tired or under the influence of alcohol, drugs or medica-
tion.

4. Weight capacity and other product capabilities only apply to a wholly and correct-
ly assembled product.

5. Keep the assembly area clean and well-lit.

6. Keep bystanders out of the area during assembly.

7. The weight of plate is heavy; pay attention to the installation to avoid hurting it,
and if necessary, find someone to assist with the installation.

8.Assembly should be done by adults only.

9. WARNING: This product contains small parts. If swallowed, it will pose a choking
hazard. Keep these small parts away from children when assembling!

10.Before using the appliance for the first time, peel off any promotional materials
and packaging materials.

ATTENTION!

WARNING! Keep children and pets away.

WARNING!Remove all packaging materials and keep them for future
A use.Packaging materials are not a toy.

WARNING!Don't let children play with the packaging materials. If they

swallow the packaging materials, they will suffocate!

SAVE THESE INSTRUCTIONS

_2_



Machine Translated by Google

USE PRECAUTIONS

WARNING:TO PREVENT SERIOUS INJURY AND DEATH FROM TIPPING:
1.To avoid accidents or sharp edges injuries please assemble and use carefully.
2. Use as intended only. Do not sit or stand on the product.

3. Inspect before every use. Do not use it if parts are loose or damaged.

4.1f any parts are missing, broken, damaged, or worn, stop using this item until
repairs are made and replacement parts are installed.

5.Do not exceed the listed weight capacity. Tighten all knobs securely before
applying load. Be aware of dynamic loading! The sudden load movement may
briefly create an excess load, causing product failure.

6.Try not to be too heavy to avoid the weightin one place, causing the table to
overturn.

WARNING:Do not let children play with this product,
to avoid turning over the harm.



Exploded Drawing




PARTS LIST

@

1PC

3 PCS

©

2PCS

2

3 PCS 3 PCS 3 PCS

Q)

A

DN




Machine Translated by Google

<‘®E/@

1PC




Machine Translated by Google

This Cam Lock Fastening
System will be used

Cam Lock Fastening System

throughout the assembly process

A M6*35 B @15*10 C @6*30 D M4*35 E M4*20 F G M3*12 H M7*40
€3

36 PCS 36 PCS 16 PCS 26 PCS

+1spare +1spare +1spare 6 PCS 5PCS 5PCS +1spare 8 PCS
I M5*14 J L M4*30 M M4*14 N o P

26 PCS 12 PCS 24 PCS

+1spare +1spare +1spare 4 PCS 8 PCS 2PCS
Q R S CL CR DL DR

1PC 4 PCS 1 PC 3 PCS 3 PCS 3 PCS




ASSEMBLY STEPS




" |CLx3




Machine Translated by Google

3 @15‘10

Bx4

Hx4

_10_




Machine Translated by Google

NMMO Hxa

Q,mo Bxs

_11_



i ranslated by Google

§

21510 BX4

MMMMM

Cx6

MMMMM

Dxs




Machine Translated by Google

Ix16

Jx2

Kx2

10

_13_



Machine Translated by Google

_14_



Machine Translated by Google

3

1

14

_15_



Machine Translated by Google

i M4*14 st
-

\%mo Ex1

(@ Fx1
g

- Mx4

16

\/>

_16_



Machine Translated by Google

17 \3,“4,,20 Ex1
C@ Fx1

g At Mx4

18 % M4*14 MXB

_17_




Machine Translated by Google

510 BX12 (@ FX3

Ww*zo EX3 \Wm*ao LX12

Y,

X3

/ DL x3

/ DRx3

_18_



nslated by Goo

AR
2\
N\

/

_19_



Machine Translated by Google

Manufacturer: Shanghaimuxinmuyeyouxiangongsi

Address: Shuangchenglu 803naong11haa1602A-1609shi, baoshanqu, shanghai
200000 CN.
Imported to AUS: SIHAQ PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australia
Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho
Cucamoanga, CA 91730

EC

REP

UK

REP

E-CrossStu GmbH
Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.
C/0 YH Consulting Limited Office 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX

_20_



Machine Translated by Google



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

TechnicalSupport and E-Warranty Certificate www.vevor.com/support

KITCHEN ISLAND
Model:SR221265BK

We continue to be committed to provide you tools with competitive price.
"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the
major top brands and does not necessarily mean to cover all categories of tools offered
by us. You are kindly reminded to verify carefully when you are placing an order with us if
you are actually saving half in comparison with the top major brands.



Machine Translated by Google

®
VEVOR KITCHEN ISLAND

TOUGH TOOLS, HALF PRICE

Model:SR221265BK

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



Machine Translated by Google

TIPS
Assembling this cart will take approximately 3 hours,
it is recommended that 2 people operate it.

SAFETY INSTRUCTIONS

Thank you for using this product. Please read all of the instructions before using
it. The information will help you achieve the best possible results.

WARNING:

Please read this manual carefully before using the product. Failure to do so may
resultin serious injury.

ASSEMBLY PRECAUTIONS

1. Assemble needs to follow these instructions. Incorrect assembly can be a hazard.
2. Wear safety goggles and heavy-duty work gloves during assembly.

3. Do not assemble when tired or under the influence of alcohol, drugs or medica-
tion.

4. Weight capacity and other product capabilities only apply to a wholly and correct-
ly assembled product.

5. Keep the assembly area clean and well-lit.

6. Keep bystanders out of the area during assembly.

7. The weight of plate is heavy; pay attention to the installation to avoid hurting it,
and if necessary, find someone to assist with the installation.

8.Assembly should be done by adults only.

9. WARNING: This product contains small parts. If swallowed, it will pose a choking
hazard. Keep these small parts away from children when assembling!

10.Before using the appliance for the first time, peel off any promotional materials
and packaging materials.

ATTENTION!

WARNING! Keep children and pets away.

WARNING!Remove all packaging materials and keep them for future
A use.Packaging materials are not a toy.

WARNING!Don't let children play with the packaging materials. If they

swallow the packaging materials, they will suffocate!

SAVE THESE INSTRUCTIONS

_2_



Machine Translated by Google

USE PRECAUTIONS

WARNING:TO PREVENT SERIOUS INJURY AND DEATH FROM TIPPING:
1.To avoid accidents or sharp edges injuries please assemble and use carefully.
2. Use as intended only. Do not sit or stand on the product.

3. Inspect before every use. Do not use it if parts are loose or damaged.

4.1f any parts are missing, broken, damaged, or worn, stop using this item until
repairs are made and replacement parts are installed.

5.Do not exceed the listed weight capacity. Tighten all knobs securely before
applying load. Be aware of dynamic loading! The sudden load movement may
briefly create an excess load, causing product failure.

6.Try not to be too heavy to avoid the weightin one place, causing the table to
overturn.

WARNING:Do not let children play with this product,
to avoid turning over the harm.



Exploded Drawing




PARTS LIST

@

1PC

3 PCS

©

2PCS

2

3 PCS 3 PCS 3 PCS

Q)

A

DN




Machine Translated by Google

<‘®E/@

1PC




Machine Translated by Google

This Cam Lock Fastening
System will be used

Cam Lock Fastening System

throughout the assembly process

A M6*35 B @15*10 C @6*30 D M4*35 E M4*20 F G M3*12 H M7*40
€3

36 PCS 36 PCS 16 PCS 26 PCS

+1spare +1spare +1spare 6 PCS 5PCS 5PCS +1spare 8 PCS
I M5*14 J L M4*30 M M4*14 N o P

26 PCS 12 PCS 24 PCS

+1spare +1spare +1spare 4 PCS 8 PCS 2PCS
Q R S CL CR DL DR

1PC 4 PCS 1 PC 3 PCS 3 PCS 3 PCS




ASSEMBLY STEPS




" |CLx3




Machine Translated by Google

3 @15‘10

Bx4

Hx4

_10_




Machine Translated by Google

NMMO Hxa

Q,mo Bxs

_11_



i ranslated by Google

§

21510 BX4

MMMMM

Cx6

MMMMM

Dxs




Machine Translated by Google

Ix16

Jx2

Kx2

10

_13_



Machine Translated by Google

_14_



Machine Translated by Google

3

1

14

_15_



Machine Translated by Google

i M4*14 st
-

\%mo Ex1

(@ Fx1
g

- Mx4

16

\/>

_16_



Machine Translated by Google

17 \3,“4,,20 Ex1
C@ Fx1

g At Mx4

18 % M4*14 MXB

_17_




Machine Translated by Google

510 BX12 (@ FX3

Ww*zo EX3 \Wm*ao LX12

Y,

X3

/ DL x3

/ DRx3

_18_



nslated by Goo

AR
2\
N\

/

_19_



Machine Translated by Google

Manufacturer: Shanghaimuxinmuyeyouxiangongsi

Address: Shuangchenglu 803naong11haa1602A-1609shi, baoshanqu, shanghai
200000 CN.
Imported to AUS: SIHAQ PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australia
Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho
Cucamoanga, CA 91730

EC

REP

UK

REP

E-CrossStu GmbH
Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.
C/0 YH Consulting Limited Office 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX

_20_



Machine Translated by Google



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

TechnicalSupport and E-Warranty Certificate www.vevor.com/support

KITCHEN ISLAND
Model:SR221265BK

We continue to be committed to provide you tools with competitive price.
"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the
major top brands and does not necessarily mean to cover all categories of tools offered
by us. You are kindly reminded to verify carefully when you are placing an order with us if
you are actually saving half in comparison with the top major brands.



Machine Translated by Google

®
VEVOR KITCHEN ISLAND

TOUGH TOOLS, HALF PRICE

Model:SR221265BK

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



Machine Translated by Google

TIPS
Assembling this cart will take approximately 3 hours,
it is recommended that 2 people operate it.

SAFETY INSTRUCTIONS

Thank you for using this product. Please read all of the instructions before using
it. The information will help you achieve the best possible results.

WARNING:

Please read this manual carefully before using the product. Failure to do so may
resultin serious injury.

ASSEMBLY PRECAUTIONS

1. Assemble needs to follow these instructions. Incorrect assembly can be a hazard.
2. Wear safety goggles and heavy-duty work gloves during assembly.

3. Do not assemble when tired or under the influence of alcohol, drugs or medica-
tion.

4. Weight capacity and other product capabilities only apply to a wholly and correct-
ly assembled product.

5. Keep the assembly area clean and well-lit.

6. Keep bystanders out of the area during assembly.

7. The weight of plate is heavy; pay attention to the installation to avoid hurting it,
and if necessary, find someone to assist with the installation.

8.Assembly should be done by adults only.

9. WARNING: This product contains small parts. If swallowed, it will pose a choking
hazard. Keep these small parts away from children when assembling!

10.Before using the appliance for the first time, peel off any promotional materials
and packaging materials.

ATTENTION!

WARNING! Keep children and pets away.

WARNING!Remove all packaging materials and keep them for future
A use.Packaging materials are not a toy.

WARNING!Don't let children play with the packaging materials. If they

swallow the packaging materials, they will suffocate!

SAVE THESE INSTRUCTIONS

_2_



Machine Translated by Google

USE PRECAUTIONS

WARNING:TO PREVENT SERIOUS INJURY AND DEATH FROM TIPPING:
1.To avoid accidents or sharp edges injuries please assemble and use carefully.
2. Use as intended only. Do not sit or stand on the product.

3. Inspect before every use. Do not use it if parts are loose or damaged.

4.1f any parts are missing, broken, damaged, or worn, stop using this item until
repairs are made and replacement parts are installed.

5.Do not exceed the listed weight capacity. Tighten all knobs securely before
applying load. Be aware of dynamic loading! The sudden load movement may
briefly create an excess load, causing product failure.

6.Try not to be too heavy to avoid the weightin one place, causing the table to
overturn.

WARNING:Do not let children play with this product,
to avoid turning over the harm.



Exploded Drawing




PARTS LIST

@

1PC

3 PCS

©

2PCS

2

3 PCS 3 PCS 3 PCS

Q)

A

DN




Machine Translated by Google

<‘®E/@

1PC




Machine Translated by Google

This Cam Lock Fastening
System will be used

Cam Lock Fastening System

throughout the assembly process

A M6*35 B @15*10 C @6*30 D M4*35 E M4*20 F G M3*12 H M7*40
€3

36 PCS 36 PCS 16 PCS 26 PCS

+1spare +1spare +1spare 6 PCS 5PCS 5PCS +1spare 8 PCS
I M5*14 J L M4*30 M M4*14 N o P

26 PCS 12 PCS 24 PCS

+1spare +1spare +1spare 4 PCS 8 PCS 2PCS
Q R S CL CR DL DR

1PC 4 PCS 1 PC 3 PCS 3 PCS 3 PCS




ASSEMBLY STEPS




" |CLx3




Machine Translated by Google

3 @15‘10

Bx4

Hx4

_10_




Machine Translated by Google

NMMO Hxa

Q,mo Bxs

_11_



i ranslated by Google

§

21510 BX4

MMMMM

Cx6

MMMMM

Dxs




Machine Translated by Google

Ix16

Jx2

Kx2

10

_13_



Machine Translated by Google

_14_



Machine Translated by Google

3

1

14

_15_



Machine Translated by Google

i M4*14 st
-

\%mo Ex1

(@ Fx1
g

- Mx4

16

\/>

_16_



Machine Translated by Google

17 \3,“4,,20 Ex1
C@ Fx1

g At Mx4

18 % M4*14 MXB

_17_




Machine Translated by Google

510 BX12 (@ FX3

Ww*zo EX3 \Wm*ao LX12

Y,

X3

/ DL x3

/ DRx3

_18_



nslated by Goo

AR
2\
N\

/

_19_



Machine Translated by Google

Manufacturer: Shanghaimuxinmuyeyouxiangongsi

Address: Shuangchenglu 803naong11haa1602A-1609shi, baoshanqu, shanghai
200000 CN.
Imported to AUS: SIHAQ PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australia
Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho
Cucamoanga, CA 91730

EC

REP

UK

REP

E-CrossStu GmbH
Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.
C/0 YH Consulting Limited Office 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX

_20_



Machine Translated by Google



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

TechnicalSupport and E-Warranty Certificate www.vevor.com/support

KITCHEN ISLAND
Model:SR221265BK

We continue to be committed to provide you tools with competitive price.
"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the
major top brands and does not necessarily mean to cover all categories of tools offered
by us. You are kindly reminded to verify carefully when you are placing an order with us if
you are actually saving half in comparison with the top major brands.



Machine Translated by Google

®
VEVOR KITCHEN ISLAND

TOUGH TOOLS, HALF PRICE

Model:SR221265BK

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



Machine Translated by Google

TIPS
Assembling this cart will take approximately 3 hours,
it is recommended that 2 people operate it.

SAFETY INSTRUCTIONS

Thank you for using this product. Please read all of the instructions before using
it. The information will help you achieve the best possible results.

WARNING:

Please read this manual carefully before using the product. Failure to do so may
resultin serious injury.

ASSEMBLY PRECAUTIONS

1. Assemble needs to follow these instructions. Incorrect assembly can be a hazard.
2. Wear safety goggles and heavy-duty work gloves during assembly.

3. Do not assemble when tired or under the influence of alcohol, drugs or medica-
tion.

4. Weight capacity and other product capabilities only apply to a wholly and correct-
ly assembled product.

5. Keep the assembly area clean and well-lit.

6. Keep bystanders out of the area during assembly.

7. The weight of plate is heavy; pay attention to the installation to avoid hurting it,
and if necessary, find someone to assist with the installation.

8.Assembly should be done by adults only.

9. WARNING: This product contains small parts. If swallowed, it will pose a choking
hazard. Keep these small parts away from children when assembling!

10.Before using the appliance for the first time, peel off any promotional materials
and packaging materials.

ATTENTION!

WARNING! Keep children and pets away.

WARNING!Remove all packaging materials and keep them for future
A use.Packaging materials are not a toy.

WARNING!Don't let children play with the packaging materials. If they

swallow the packaging materials, they will suffocate!

SAVE THESE INSTRUCTIONS

_2_



Machine Translated by Google

USE PRECAUTIONS

WARNING:TO PREVENT SERIOUS INJURY AND DEATH FROM TIPPING:
1.To avoid accidents or sharp edges injuries please assemble and use carefully.
2. Use as intended only. Do not sit or stand on the product.

3. Inspect before every use. Do not use it if parts are loose or damaged.

4.1f any parts are missing, broken, damaged, or worn, stop using this item until
repairs are made and replacement parts are installed.

5.Do not exceed the listed weight capacity. Tighten all knobs securely before
applying load. Be aware of dynamic loading! The sudden load movement may
briefly create an excess load, causing product failure.

6.Try not to be too heavy to avoid the weightin one place, causing the table to
overturn.

WARNING:Do not let children play with this product,
to avoid turning over the harm.



Exploded Drawing




PARTS LIST

@

1PC

3 PCS

©

2PCS

2

3 PCS 3 PCS 3 PCS

Q)

A

DN




Machine Translated by Google

<‘®E/@

1PC




Machine Translated by Google

This Cam Lock Fastening
System will be used

Cam Lock Fastening System

throughout the assembly process

A M6*35 B @15*10 C @6*30 D M4*35 E M4*20 F G M3*12 H M7*40
€3

36 PCS 36 PCS 16 PCS 26 PCS

+1spare +1spare +1spare 6 PCS 5PCS 5PCS +1spare 8 PCS
I M5*14 J L M4*30 M M4*14 N o P

26 PCS 12 PCS 24 PCS

+1spare +1spare +1spare 4 PCS 8 PCS 2PCS
Q R S CL CR DL DR

1PC 4 PCS 1 PC 3 PCS 3 PCS 3 PCS




ASSEMBLY STEPS




" |CLx3




Machine Translated by Google

3 @15‘10

Bx4

Hx4

_10_




Machine Translated by Google

NMMO Hxa

Q,mo Bxs

_11_



i ranslated by Google

§

21510 BX4

MMMMM

Cx6

MMMMM

Dxs




Machine Translated by Google

Ix16

Jx2

Kx2

10

_13_



Machine Translated by Google

_14_



Machine Translated by Google

3

1

14

_15_



Machine Translated by Google

i M4*14 st
-

\%mo Ex1

(@ Fx1
g

- Mx4

16

\/>

_16_



Machine Translated by Google

17 \3,“4,,20 Ex1
C@ Fx1

g At Mx4

18 % M4*14 MXB

_17_




Machine Translated by Google

510 BX12 (@ FX3

Ww*zo EX3 \Wm*ao LX12

Y,

X3

/ DL x3

/ DRx3

_18_



nslated by Goo

AR
2\
N\

/

_19_



Machine Translated by Google

Manufacturer: Shanghaimuxinmuyeyouxiangongsi

Address: Shuangchenglu 803naong11haa1602A-1609shi, baoshanqu, shanghai
200000 CN.
Imported to AUS: SIHAQ PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australia
Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho
Cucamoanga, CA 91730

EC

REP

UK

REP

E-CrossStu GmbH
Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.
C/0 YH Consulting Limited Office 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX

_20_



Machine Translated by Google



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

TechnicalSupport and E-Warranty Certificate www.vevor.com/support

KITCHEN ISLAND
Model:SR221265BK

We continue to be committed to provide you tools with competitive price.
"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the
major top brands and does not necessarily mean to cover all categories of tools offered
by us. You are kindly reminded to verify carefully when you are placing an order with us if
you are actually saving half in comparison with the top major brands.



Machine Translated by Google

®
VEVOR KITCHEN ISLAND

TOUGH TOOLS, HALF PRICE

Model:SR221265BK

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



Machine Translated by Google

TIPS
Assembling this cart will take approximately 3 hours,
it is recommended that 2 people operate it.

SAFETY INSTRUCTIONS

Thank you for using this product. Please read all of the instructions before using
it. The information will help you achieve the best possible results.

WARNING:

Please read this manual carefully before using the product. Failure to do so may
resultin serious injury.

ASSEMBLY PRECAUTIONS

1. Assemble needs to follow these instructions. Incorrect assembly can be a hazard.
2. Wear safety goggles and heavy-duty work gloves during assembly.

3. Do not assemble when tired or under the influence of alcohol, drugs or medica-
tion.

4. Weight capacity and other product capabilities only apply to a wholly and correct-
ly assembled product.

5. Keep the assembly area clean and well-lit.

6. Keep bystanders out of the area during assembly.

7. The weight of plate is heavy; pay attention to the installation to avoid hurting it,
and if necessary, find someone to assist with the installation.

8.Assembly should be done by adults only.

9. WARNING: This product contains small parts. If swallowed, it will pose a choking
hazard. Keep these small parts away from children when assembling!

10.Before using the appliance for the first time, peel off any promotional materials
and packaging materials.

ATTENTION!

WARNING! Keep children and pets away.

WARNING!Remove all packaging materials and keep them for future
A use.Packaging materials are not a toy.

WARNING!Don't let children play with the packaging materials. If they

swallow the packaging materials, they will suffocate!

SAVE THESE INSTRUCTIONS

_2_



Machine Translated by Google

USE PRECAUTIONS

WARNING:TO PREVENT SERIOUS INJURY AND DEATH FROM TIPPING:
1.To avoid accidents or sharp edges injuries please assemble and use carefully.
2. Use as intended only. Do not sit or stand on the product.

3. Inspect before every use. Do not use it if parts are loose or damaged.

4.1f any parts are missing, broken, damaged, or worn, stop using this item until
repairs are made and replacement parts are installed.

5.Do not exceed the listed weight capacity. Tighten all knobs securely before
applying load. Be aware of dynamic loading! The sudden load movement may
briefly create an excess load, causing product failure.

6.Try not to be too heavy to avoid the weightin one place, causing the table to
overturn.

WARNING:Do not let children play with this product,
to avoid turning over the harm.



Exploded Drawing




PARTS LIST

@

1PC

3 PCS

©

2PCS

2

3 PCS 3 PCS 3 PCS

Q)

A

DN




Machine Translated by Google

<‘®E/@

1PC




Machine Translated by Google

This Cam Lock Fastening
System will be used

Cam Lock Fastening System

throughout the assembly process

A M6*35 B @15*10 C @6*30 D M4*35 E M4*20 F G M3*12 H M7*40
€3

36 PCS 36 PCS 16 PCS 26 PCS

+1spare +1spare +1spare 6 PCS 5PCS 5PCS +1spare 8 PCS
I M5*14 J L M4*30 M M4*14 N o P

26 PCS 12 PCS 24 PCS

+1spare +1spare +1spare 4 PCS 8 PCS 2PCS
Q R S CL CR DL DR

1PC 4 PCS 1 PC 3 PCS 3 PCS 3 PCS




ASSEMBLY STEPS




" |CLx3




Machine Translated by Google

3 @15‘10

Bx4

Hx4

_10_




Machine Translated by Google

NMMO Hxa

Q,mo Bxs

_11_



i ranslated by Google

§

21510 BX4

MMMMM

Cx6

MMMMM

Dxs




Machine Translated by Google

Ix16

Jx2

Kx2

10

_13_



Machine Translated by Google

_14_



Machine Translated by Google

3

1

14

_15_



Machine Translated by Google

i M4*14 st
-

\%mo Ex1

(@ Fx1
g

- Mx4

16

\/>

_16_



Machine Translated by Google

17 \3,“4,,20 Ex1
C@ Fx1

g At Mx4

18 % M4*14 MXB

_17_




Machine Translated by Google

510 BX12 (@ FX3

Ww*zo EX3 \Wm*ao LX12

Y,

X3

/ DL x3

/ DRx3

_18_



nslated by Goo

AR
2\
N\

/

_19_



Machine Translated by Google

Manufacturer: Shanghaimuxinmuyeyouxiangongsi

Address: Shuangchenglu 803naong11haa1602A-1609shi, baoshanqu, shanghai
200000 CN.
Imported to AUS: SIHAQ PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australia
Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho
Cucamoanga, CA 91730

EC

REP

UK

REP

E-CrossStu GmbH
Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.
C/0 YH Consulting Limited Office 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX

_20_



Machine Translated by Google



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

TechnicalSupport and E-Warranty Certificate www.vevor.com/support

KITCHEN ISLAND
Model:SR221265BK

We continue to be committed to provide you tools with competitive price.
"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the
major top brands and does not necessarily mean to cover all categories of tools offered
by us. You are kindly reminded to verify carefully when you are placing an order with us if
you are actually saving half in comparison with the top major brands.



Machine Translated by Google

®
VEVOR KITCHEN ISLAND

TOUGH TOOLS, HALF PRICE

Model:SR221265BK

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



Machine Translated by Google

TIPS
Assembling this cart will take approximately 3 hours,
it is recommended that 2 people operate it.

SAFETY INSTRUCTIONS

Thank you for using this product. Please read all of the instructions before using
it. The information will help you achieve the best possible results.

WARNING:

Please read this manual carefully before using the product. Failure to do so may
resultin serious injury.

ASSEMBLY PRECAUTIONS

1. Assemble needs to follow these instructions. Incorrect assembly can be a hazard.
2. Wear safety goggles and heavy-duty work gloves during assembly.

3. Do not assemble when tired or under the influence of alcohol, drugs or medica-
tion.

4. Weight capacity and other product capabilities only apply to a wholly and correct-
ly assembled product.

5. Keep the assembly area clean and well-lit.

6. Keep bystanders out of the area during assembly.

7. The weight of plate is heavy; pay attention to the installation to avoid hurting it,
and if necessary, find someone to assist with the installation.

8.Assembly should be done by adults only.

9. WARNING: This product contains small parts. If swallowed, it will pose a choking
hazard. Keep these small parts away from children when assembling!

10.Before using the appliance for the first time, peel off any promotional materials
and packaging materials.

ATTENTION!

WARNING! Keep children and pets away.

WARNING!Remove all packaging materials and keep them for future
A use.Packaging materials are not a toy.

WARNING!Don't let children play with the packaging materials. If they

swallow the packaging materials, they will suffocate!

SAVE THESE INSTRUCTIONS

_2_



Machine Translated by Google

USE PRECAUTIONS

WARNING:TO PREVENT SERIOUS INJURY AND DEATH FROM TIPPING:
1.To avoid accidents or sharp edges injuries please assemble and use carefully.
2. Use as intended only. Do not sit or stand on the product.

3. Inspect before every use. Do not use it if parts are loose or damaged.

4.1f any parts are missing, broken, damaged, or worn, stop using this item until
repairs are made and replacement parts are installed.

5.Do not exceed the listed weight capacity. Tighten all knobs securely before
applying load. Be aware of dynamic loading! The sudden load movement may
briefly create an excess load, causing product failure.

6.Try not to be too heavy to avoid the weightin one place, causing the table to
overturn.

WARNING:Do not let children play with this product,
to avoid turning over the harm.



Exploded Drawing




PARTS LIST

@

1PC

3 PCS

©

2PCS

2

3 PCS 3 PCS 3 PCS

Q)

A

DN




Machine Translated by Google

<‘®E/@

1PC




Machine Translated by Google

This Cam Lock Fastening
System will be used

Cam Lock Fastening System

throughout the assembly process

A M6*35 B @15*10 C @6*30 D M4*35 E M4*20 F G M3*12 H M7*40
€3

36 PCS 36 PCS 16 PCS 26 PCS

+1spare +1spare +1spare 6 PCS 5PCS 5PCS +1spare 8 PCS
I M5*14 J L M4*30 M M4*14 N o P

26 PCS 12 PCS 24 PCS

+1spare +1spare +1spare 4 PCS 8 PCS 2PCS
Q R S CL CR DL DR

1PC 4 PCS 1 PC 3 PCS 3 PCS 3 PCS




ASSEMBLY STEPS




" |CLx3




Machine Translated by Google

3 @15‘10

Bx4

Hx4

_10_




Machine Translated by Google

NMMO Hxa

Q,mo Bxs

_11_



i ranslated by Google

§

21510 BX4

MMMMM

Cx6

MMMMM

Dxs




Machine Translated by Google

Ix16

Jx2

Kx2

10

_13_



Machine Translated by Google

_14_



Machine Translated by Google

3

1

14

_15_



Machine Translated by Google

i M4*14 st
-

\%mo Ex1

(@ Fx1
g

- Mx4

16

\/>

_16_



Machine Translated by Google

17 \3,“4,,20 Ex1
C@ Fx1

g At Mx4

18 % M4*14 MXB

_17_




Machine Translated by Google

510 BX12 (@ FX3

Ww*zo EX3 \Wm*ao LX12

Y,

X3

/ DL x3

/ DRx3

_18_



nslated by Goo

AR
2\
N\

/

_19_



Machine Translated by Google

Manufacturer: Shanghaimuxinmuyeyouxiangongsi

Address: Shuangchenglu 803naong11haa1602A-1609shi, baoshanqu, shanghai
200000 CN.
Imported to AUS: SIHAQ PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australia
Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho
Cucamoanga, CA 91730

EC

REP

UK

REP

E-CrossStu GmbH
Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.
C/0 YH Consulting Limited Office 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX

_20_



Machine Translated by Google



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23

